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NOTES:
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Attemp all questhions
Students arc advised to specially check the Numerical Data of question paper i 1, ] T
O MOTSIOIN S there "

difference in Hindi Translation of any question, the students should answer the quesy | ny
Shomn Al oromg

version, b the Bogh
Use of Pager and Mabile Phone by the students is not allowed

swer any Ten parts: [1h x| = 10
Write the dimensional formula of coefTicient of Bulk Modulus.
The scalar product of two mutually perpendicular vector d and  is
1) Zero
i Jalla]
ol
mny 15\

Write the number of significant figures in 0.34250.

Write the unit of stress.

Potential energy of a harmonic oscillator is given by

V=Y Kx?, where V is Potential energy and x is displacement.

Write the unit of K.

Write the relation between linear momentum and angular momenturm.
The value of G depends on e

1) earth radius

u) earth mass

i) neither radius nor mass of earth.

One watt is equal to
] 1 Horse power

! H wer
. o e DOW
i) 7 46 orse p

]
— 5e power
1ii) 246 Horse p

and radius of gyration {Ki is related as

Moment of inertia (I)
i) [=MK
i} =MK**
K = Iir |
) UM | | | | N
\l :' moving in cifcilar path of radius r, and r:rc:'.p\:c'.wcl) with uniform speed. The ratio et
Two particles of same mass moving I
their centripetal acceleration is giyem By
h
1) r
r
iy "
2
T
) p
100
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: P escape velocity on m Vs
) Same ] 00N compared to earth 1f
il Less
1 More
I} In an isothermal process-...
1) temperature remains constant
) temperature increases
i temperature decreases.
Q1) Atempt anmy five questions. (5> 2=10
a) The displacement of any particle x depends on timé 7 is given by equation
A= ar+ bt
Write the dimension of @ and 5.
b Twovectorsare g = 3/ + ; +k and b=2/ —_f+ 2k Calculate @ x b.
c) The error in measurcment of length, breadth and width of a cuboid are 5%, 3% and 2% respectively. Calculate the
e1TOT in measurement of volume of cuboid.
d A block weighing 10 Newton is rest on horizontal table. The coefficient of static friction between block and table is
0.50. What will be the horizontal force that will just start the block moving.
c) Write the formula between temperature and volume for an adiabatic process.
) Define elasticity and write Hook's law:,
N Write the statement of first law of thermodynamics.
()3) Attempt any two paris: -~ - T (25=101
a) Define centripetal force. A body of mass 0:10kg is revolving by tieing it with arope of diameter 1.0 meter ina circular

path with 10 revolutions in 31.4 second. Calculate the centripetal force acting on the body.

b) Define moment of inertia and mdjtlé"éfgjrration. Also write the statement of theorem of parallel axis.

3 Define conservative force. Show that a conservative force is negative gradient of potential energy.
- o

' [2x5=10]
(Q4) Attempt any Iwo paris.

W hat is friction. Write the laws of imiting friction. Also write__applicamms of friction m daily life.

]
b) Write Kepler's law of planetary motion. ) 5 .
ini is oy and area 5 ¢m *, lts on€ end is kep!
¢} Define coefTicient of thermal conductivity. Length ofaaaiumlmum rod 1s l '“lz:*]. a“q .
a1 750°C and other end is kept at 50 °C. Calculate the aount of heat flow inroc 1 -
(Given K= 200 Joule/Meter Sec °C)
[2x5=10]
QS) Attempt any two pans: o tace ension o water by capillary rise method.
: - ibe the (ertaination of $ i
a) Define surface tension. Describe the method of deterd N dderi\*erem"ion petween them,
- a solid an
b) Define coetlicient of linear, surface and volume expansion of aso

<) State and prove Bernoull's theorent.
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